TR | 6" STEEL TRUSS SE

27

|

MT ModTruss..

-



Truss Series | 6” Steel

LA

L

JH

ENENAMNMNEMNEEU @

[ s S Te o]

EREEEE
ErmnEonn
ERCUTIDCrD

PR

Standard Material | A36 Low Carbon Steel

Standard Finish | 25 - Silver
Available Finish(es) | 20-33 H G
Hole Size | 11/16" (17.46mm)

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1 M R
For More Info www.ModTruss.com |

Part# s [Wegh AC

MT-TR-06-06-006-ST 6" x 6" x 6” (152.40mm x 152.40mm x 152.40mm) 6.501bs (2.95kg)

MT-TR-06-06-012-ST 6" x 6" x 12" (152.40mm x 152.40mm x 304.80mm) 11.401bs (5.17kg)

MT-TR-06-06-024-ST 6" x 6” x 24" (152.40mm x 152.40mm x 609.60mm) 20.95Ibs (9.50kg) HW
MT-TR-06-06-036-ST 6" x 6" x 36" (152.40mm x 152.40mm x 914.40mm) 30.501bs (13.83kg)

MT-TR-06-06-048-ST 6" x 6" x 48" (152.40mm x 152.40mm x 1219.2mm) 39.85lbs (18.08kg)

MT-TR-06-06-060-ST 6" x 6" x 60" (152.40mm x 152.40mm x 1524.0mm) 49.25lbs (22.34kg)

MT-TR-06-06-072-ST 6" x 6" x 72" (152.40mm x 152.40mm x 1828.8mm) 58.80Ibs (26.67kg) T K
MT-TR-06-06-084-ST 6" x 6" x 84" (152.40mm x 152.40mm x 2133.6mm) 68.401bs (31.03kg) |
MT-TR-06-06-096-ST 6" x 6" x 96" (152.40mm x 152.40mm x 2438.4mm) 77.801bs (35.29kg)

MT-TR-06-06-108-ST 6" x 6" x 108" (152.40mm x 152.40mm x 2743.2mm) | 87.25Ibs (39.58kg) M H
MT-TR-06-06-120-ST 6" x 6" x 120" (152.40mm x 152.40mm x 3048.0mm) 96.95Ibs (43.98kg) ‘

Made To Order Customizable Reusable Serialized & Traceable

| JJTF l ModTruss.- U.S. Patent No. 8,418,425 & other patents pending




30

Series | TR Truss 6"

Product Number | MT-TR-06-06-XXX-ST

1S-XXX-90-90-dL-IW

AIIWON 14Vd

LY
SSNYL T33LS .9%.9 2] -

‘NOILJI¥DS3a

wnosnas[ g10z/81/6 .
a . .
wimesisey | - SSNALPON E

15-021-90-90-31-LW [99°¢6] |
15-801-90-90-4L-IW 7€
15-960-90-90-41-1W
1S-780-90-90-4L-LW
1S2L0-90-90-4L-LW
15-090-90-90-4L-LW
15-870-90-90-41-LW
1S9€0-90-90-4L-LW

[029/]
| 00€

[029/]
00'¢

[ov'es]

009

\

OO () O
O\_/O0 O\_/O mw

[or'Zst] *

009

[o1'8g]
0S°1

-—

\
\

[0T°9/]
00°€

[ov'£1]
69°

, ,
o¢ om0 o0 OO
/ /
/ /
) OO OO OO
;
)

lovzs] . 0870g]
009 00¢lL
f
[09°609] g

ojolole!

007 [ory 6]

ojejeojofeole)

1S-¥20-90-90-d1-IW
1S-¢10-90-90-dL-IW
/._.mwoooooow_._.._..z
m ]
| I

+

00'9¢

k

@]
@
@]
@]
@]
@]
@
@]

[0z'6121]
00

8y

ojejololololololole)

[00¥7Z51]
00709

[08'8Z81]

00 [09°¢€17]

00'¥8

SJ010101 010101010101 0101 0101010

851
el

]
96

SOOOOOOO000O0000080

045744
00801

0105050101 ¢10101 0101001050101 01 0101010

[00'8v0el
00°0CL

NSSNALPOA .m.w

U.S. Patent No. 8,418,425 & other patents pending



	Tom sida



